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A HIC5: 237
CH+6F+8=0 8x° — 25x2 — 486x + 567 = 0
X+ 21x% + 140x + 288 = 0 6 —x2 — 187x+ 210 =0
X —6F—-Tx=0 5¢ — 51x% + 154x — 120 = 0
8x° — 63x2 — 95x+ 126 = 0 X — 108 +9x =0
X =57 —4lx+45=0 X —6x> —3lx+120=0
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CH+6F+8=0
x=-4,-2,0

X+ 21x> + 140x+ 288 = 0
x=-9,-8,—4

X —6F—-Tx=0
x=7,-1,0

8x° — 63x% — 95x+ 126 = 0
7
2,29
8

x:

X =57 —4lx+45=0
x=-5,1,9

8> — 25x% — 486x + 567 = 0
9

x=-=,-7,9
8

6 — x> — 187x+210=0
7
P _65 5
6

x:

5¢ — 512 + 154x— 120 =0
6

) 554
5

x:

X — 108 +9x =0
x=9,1,0

X —6x° —3lx+ 120 =0
x=-5,3,8
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